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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2015 

 

Subject Name :      Engineering Drawing 

Subject Code :       2TE02END1                Branch :  Diploma(All) 

Semester : 2            Date :21/11/2015          Time :   10 :30 To 1:30          Marks :    70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1 (a) Fill in the blank, selecting the appropriate word from the bracket. (7) 

 
i 

Engineering drawing is a ______ of Engineer. 

(Book, Draft, Language, Art) 

 

 
ii 

Hidden edges are shown by_______ line in engineering drawing. 

(Center line, Dotted line, Continuous line, Section line)  

 

 
iii 

Dimensions of a Title block in drawing sheet are________ mm. 

(165 X 45, 175 X 55, 185 X 65, 195 X 65) 

 

 
iv 

In a drawing, the scale is shown 1:2, this is a ______ scale. 

(Full scale, Reduced scale, Enlarged scale, Real scale) 

 

 
v 

Horizontal parallel lines can be drawn by______. 

(French curve, T-square, Compass, Scale) 

 

 
vi 

HB pencil is a _______ grade pencil. 

(Hard, Soft, Medium, Very hard) 

 

 
vii 

Dimensions of Trimmed A2 size drawing sheet are _______mm. 

(210 X 297, 594 X 841, 420 X 597, 297 X 420) 

 

 
(b) 

State whether following statements are TURE or FALSE, If false, correct the 

sentence by correcting the underlined word and re-write the sentence.    

(7) 

 i Compass is used to draw the circle and arcs.  

 ii To draw and measure the angles scale is used.  

 iii In a regular hexagon, there are four corners and five sides.   

 iv A pentagon can be drawn by Tri-circle method also.   

 v An ellipse is a conic section, of a cone cut by an inclined cutting plane.   

 vi It is not necessary to find out the focus in ellipse drawn by oblong method.   

 
vii 

If a point is in First quadrant, than the position of point is below HP and behind 

VP. 

 

 

 

 

Attempt any four questions from Q-2 to Q-8 

 

Q-2 (a) Construct an Ellipse by Arc of Circle method having major axis 120 mm and (7) 
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minor axis 80 mm long.  

 (b) Construct a Parabola by Rectangle method. Base 150 mm and axis 100 mm long.  (7) 

    

Q-3 (a) 

 

Draw a cycloid of 35 mm diameter circle for complete one revolution. Keep 

starting point of curve at the below of the vertical diameter. 
(7) 

 

(b) Draw an Involute of a Hexagon having side 20 mm for complete one revolution.  (7) 

    

Q-4 (a) A straight line AB, 80 mm long is inclined 30º to HP and 45º to VP. Point A is 10 

mm above HP and 15 mm in front of VP. Draw projections. 
(7) 

 (b) A line MN, 100 mm long has its end M, 5 mm above HP and 10 mm in front of 

VP. The other end N is 50 mm above HP and 40 mm in front of VP. Draw the 

projections and illustrate the inclination with HP and VP of the line.    

(7) 

    

Q-5 (a) A Hexagonal plate of 30 mm side is resting on HP on one of its side which is 

inclined at 30º to VP and the plate makes an angle of 45º to HP. Draw the 

projections of the plate. 

(7) 

 (b) 

 

 

A Circular plate of 50 mm diameter is resting vertically on one of point on 

circumference on HP so that it makes an angle 45º with VP. Draw the projections 

of the plate. 

(7) 

    

Q-6 (a) Divide a 110 mm long ‘AB’ line, into 7 equal divisions. (5) 

 (b) Construct a regular Pentagon of 35 mm side by using special method. (5) 

 (c) Name any FOUR engineering drawing instruments and state their usage. (4) 

    

Q-7 (a) A pictorial view of an object is shown in Fig. 1. Draw to full size its following 

views using ‘First Angle Projection Method’.  

i.   Front view looking from – X. 

ii   Top view. 

(10) 

 (b) Name any FOUR AutoCAD commands and state their usage. (4) 

    

Q-8 (a) Two views of an object are shown in Fig. 2. Draw the Isometric view.  (10) 

 (b) Construct an isometric Scale to measure 120 mm. length. (4) 
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ગજુયાતી 
 

પ્રશ્ન-૧ (અ) કૌંવભા ંઆ઩ેર ળબ્દભાથંી મોગ્મ ળબ્દ ઩વદં કૌયી ખારી જગ્મા પયુો.  (૭) 
 i એન્જીનીમયંગ ડ્રોઈંગ એ એન્ન્જજનમયની _______ છે. (બકૂૌ, ડ્રાફ્ટ, બા઴ા, કૌ઱ા)   

 ii ન દેખાતી ધાયો (બાગો) ને દળાાલલા ભાટે એન્જીનીમયંગ ડ્રોઈંગભા ં_____ યેખાનો 
ઉ઩મોગ થામ છે.(વેન્જટય રાઈન, ડોટેડ રાઈન, ક્નન્જટીન્જયઅૂવ રાઈન, વેક્નળન રાઈન) 

 

 iii ડ્રોઈંગ ળીટના ંટાઈટર બ્રોકૌના ંભા઩ ______ભીભી. શોમ છે. 
((165 X 45, 175 X 55, 185 X 65, 195 X 65)) 

 

 iv એકૌ ડ્રોઈંગભા,ં સ્કેૌર 1:2 દળાાલેર છે, જે આ_____ સ્કેૌર છે.  

(ફૂર સ્કેૌર, યીડયવૂ સ્કેૌર, એન્જરાર્જ સ્કેૌર, યીઅર સ્કેૌર)    

 

 v આડી વભાતંય યેખાઓ ______થી દોયી ળકૌામ છે. 
(ફં્રેચ કૌલા, ટી-સ્કૌલેય, કૌમ્઩ાવ, સ્કેૌર). 

 

 vi HB ઩ેન્ન્જવર ______ ગે્રડની ઩ેન્ન્જવર છે. (શાડા, મભડીમભ, વોફ્ટ, લેયી શાડા).  

 vii ટ્રીભ કૌયેરા A2 વાઈઝના ડ્રોઈંગ ઩ે઩યનુ ંભા઩ _____ભીભી. શોમ છે.  
(210 X 297, 594 X 841, 420 X 597, 297 X 420) 

 

 (ફ) નીચે યેખા કૌયેરા મલધાનો વાચા છે કેૌ ખોટા તે રખો અને ખોટા શોમ તે સધુાયીને 
લાક્ય પયી રખો.  

(૭) 

 i કૌમ્઩ાવ ઊબી યેખાઓ દોયલા ભાટે લ઩યામ છે.  

 ii ખણૂાઓ દોયલા તેભજ ભા઩લા ભાટે સ્કેૌરનો ઉ઩મોગ થામ છે.  

 iii મનમમભત ઴ટ્કૌોણભા ંચાય ખણૂા અને ઩ાચં ફાજુઓ શોમ છે.   

 iv ઩ચંકૌોણ ત્રણ લર્ુા઱ની યીતથી ઩ણ દોયી ળકૌામ છે.  

 v ઈરીપ્વ ળકુંનો, ખણૂો કૌયતી કૌા઩ યેખા લડે કૌ઩ામેરો દેખાલ છે.  

 vi રફં ચોયવની યીતથી ઈરીપ્વ દોયલા ભાટે પોકૌવ ળોધલાની જરૂય નથી.   

 vii જો કૌોઈ બફંદુ પ્રથભ લર્ુા઱઩ાદભા ંશોમ તો તે, આડી વ઩ાટીની નીચે અને ઊબી 
વ઩ાટીની ઩ાછ઱ છે.  

 

   

પ્રશ્ન ૨ થી ૮ ભાથંી કૌોઈ ઩ણ ચાયના ઊત્તય રખો. 
 

પ્રશ્ન-૨ (અ) આકૌા ઓપ વકૌારની યીતથી ઈરીપ્વ દોયો. ભોટી ધયી 120 ભીભી. અને નાની ધયી 
80 ભીભી છે.   

(૭) 

 (ફ) રફંચોયવની યીતથી ઩ેયેફોરા દોયો.઩ામો 150 ભીભી અને અક્ષ 100 ભીભી છે.    (૭) 
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પ્રશ્ન-૩ (અ) 
 

35 ભીભી વ્માવના લર્ ુા઱નો, પયૂા એકૌ આંટા ભાટે, વાઇક્નરોઇડ દોયો. ળરૂઆતનુ ંબફંદુ 
ઊબા વ્માવના નીચેના છેડાથી રો. 

(૭) 

 (ફ) 20 ભી ફાજુલા઱ા ઴ટ્કૌોણનો પયૂા એકૌ આંટા ભાટે, ઈનલોલ્યટુ દોયો. (૭) 

પ્રશ્ન-૪ (અ) વીધી યેખા AB, 80 ભીભી રફંાઈની, આડી વ઩ાટી વાથે 30º અને ઊબી વ઩ાટી વાથે 
45º નો ખણૂો ફનાલે છે. બફંદુ ‘A’  આડી વ઩ાટી ની ઉ઩ય 10 ભીભી અને ઊબી 
વ઩ાટીની વાભે 15 ભીભી છે. આ યેખાના પ્રકે્ષ઩ દોયો.   

 

 (ફ) 100 ભીભી રાફંી ‘MN’ યેખાનો ‘M” છેડો આડી વ઩ાટી ની ઉ઩ય 5 ભીભી અને ઊબી 
વ઩ાટીની વાભે 10 ભીભી છે. ફીજો છેડો ‘N’ આડી વ઩ાટી ની ઉ઩ય 50 ભીભી અને 
ઊબી વ઩ાટીની વાભે 40 ભીભી છે. આ યેખાના પ્રકે્ષ઩ દોયો.  અને યેખાના આડી 
વ઩ાટી અને ઊબી વ઩ાટી વાથેના ખણૂાઓ ળોધો.      

(૭) 

    

પ્રશ્ન-૫ (અ) 30 ભીભી ફાજુલા઱ી એકૌ ઴ટ્કૌોણાકૌાય પ્રેટ તેની એકૌ ફાજુ ઩ય આડી વ઩ાટીભા ં
ટેકૌલેરી છે. આડી વ઩ાટીભાનંી ફાજુ ઊબી વ઩ાટી વાથે 30 º નો ખણૂો કૌયે છે અને 
પ્રેટ આડી વ઩ાટી વાથે 45º નો ખણૂો કૌયે છે. આ પ્રેટના પ્રકે્ષ઩ દોયો.        

(૭) 

 (ફ) 
 

 

 

50 ભીભી ફાજુલા઱ી ગો઱ાકૌાય પ્રેટ તેના ઩યીઘના એકૌ બફંદુ ઩ય આડી વ઩ાટીભા ં
ઊબી છે. જેથી તે ઊબી વ઩ાટી વાથે 45º નો ખણૂો ફનાલે છે. આ પ્રેટના પ્રકે્ષ઩ 
દોયો. 

(૭) 

    

પ્રશ્ન-૬ (અ) 120 ભીભી રાફંી AB યેખાના 7 વયખા બાગ કૌયો. (૫) 
 (ફ) ખાવ યીત (special method) નો ઉ઩મોગ કૌયીને, 35 ભીભી ફાજુલા઱ા ઩ચંકૌોણ ની 

યચના કૌયો.  
(૫) 

 (કૌ) કૌોઈ ઩ણ ચાય એન્જીનીમયંગ ડ્રોઈંગના ંવાધનોના નાભ રખો અને તેના ઉ઩મોગ 
દળાાલો. 

(૪) 

    

પ્રશ્ન-૭ (અ) આકૃમત-૧ ભા ંએકૌ ઩દાથાની બચત્ર પ્રમતભા આ઩ેર છે ‘પ્રથભ કૌોણીમ પ્રકે્ષ઩ણની યીતે 
પયૂા ભા઩થી નીચેના દેખાલ દોયો. 
૧.   X – તયપથી જોઇને વાભેનો દેખાલ. 
૨.   ઉ઩યનો દેખાલ.     

(૧૦) 

 (ફ) કૌોઈ ઩ણ ચાય AutoCAD કૌભાન્જડના નાભ રખો અને તેના ઉ઩મોગ દળાાલો. (૪) 
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પ્રશ્ન-૮ (અ) 
 

 

આકૃમત-૨ ભા ંએકૌ ઩દાથાના ફે દેખાલ આ઩ેર છે. તેની ર્લુ્મપ્રતીભા (Isometric 

view) દોયો.  
(૧૦) 

 (ફ) 120 ભીભી. ભા઩ી ળકૌામ તેલા આઈવોભેટ્રીકૌ સ્કેૌરની યચના કૌયો. (૪) 
 


